
00 
.T 

X-(c) 
Rad whikh of the ollo uwto8- 

Dete 
Page 

umberS Are dinal 

V3S 
Digt at units place 
herefore t is divisihle by a 

E523 
Dtgid at units place »3 
ThexePore itis not divisible by 

Dig at ants place =6- 
heretoe it is dvisible by 2 

C 649 
Digtt at units phce 9 
herefro i divisibleby2 

hod which ot the tollouoing numbers are diuisible

O322 
he oumbey tormed by tens and units digcts 92dhich îs not divisi ble by 
Theveoe 339 1s nú dim Sible by -

D53 
The numbey toYMed d tens ond units digi S 
3.2phich is diuisible
There e_ 5ba is diuisiBe by 

628 
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The numbex tomed by tens and units digt is 48 
hich is not diuisiL hy Y 

Thert fre 68 not duisille by 4 

33 

The rumber t med by tens and units hif is 3a 

ohch is divsilble by 
nexetore q232 b divisLle by 

3Cind ohich ofthe tolowiog numbers are diisikle 

324 
The numnber tormed by hundreds tens and unit 

digit 1s 324 ohich is hot diisi,lo by 
Taeretox 3 is not divisible_ by 

C536 
Ihe numbey tomed by hundyedsi, tens and units 

digt s 536dhich is Rdivisible by 8 
Thee fore 2536 is a divisible by 8 

t9276o 
he numbex tormed hy hundreds,tens and units 

digit is 60 hich idivishle by 8 
heetoe 2460 is divisible by 8 

The number thme.d by hundyed 3 tens and ents 

s320 3D which i diuislble by 8 

tune 4432D is diuisthle By_ 
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Rod ohich of he following numbers are divisil 
3 

The Sum of its digtts is tdivis16le by 3 
hevefeAA not divisiLle by3 

by 3 

The Sum of its _digits is divi siLle by 3 3 
J herete 543 is divisikle by 3 

a8492 
he um ot its digts îsot divi silble by 3. 
hexe toe 2849a Y not diuisible by 3 3 

The Sum o its digits is otvi sible b 3 ThexetY 92349 s divisible by 3 3 

5 Rnd zohich of he tollowing numbers ar diisi k 

1332 
The Sum o its diqits is dtuisthle by 49 hexeto1o 13 is divisible by 9 

tiD5324
The Sum of iis digts isntckivtsilble by 9. Ineye fov 532 not di sible b. 

R) 68 
he Sum of ids digds is duisiLle by 9 
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Theve fore 968 13s hot divisible by 9 
U00 3/y 

Toe SumD its diarts is not divi s)ble by 9 Tnee tox _ 200 31Y i not divisible lby 9. 

Find ohich of he_folldwing numbers arodivside 

324 
The number i both divisble lby. 2ond 3, so L is_divsible by 6 

(2010 
The nuber îs both divi si ble by' Ond 3, So is divisible by 6 

he number is Rdin'sikle by a but not 3, So is not divisible by 6 

G15 S05 
he nuombe isneither dinsible b a nor 3, isnot dii'sible by 6 

Hod which of theolbaing numbers Are dinsible by 6" 
DSOROo 

The unik digt is 0, So is divisiLle by 5. 

66666 
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he int oltg is neitherO nor S,So i 
hot disible by 5 

i 755 
Thetns digit is 5,So fs_dinslle b5 

)207 
The untt s digt is So is not divisille 
by5 

8Find Lshich b fhé tollowing numbes aro divsibe by to 

The units place sO theretore a0 ts divi sible by O_ 

s dtvislble a t0 

he unts place is theve fovR gy7 Ndiaside 

Te unit's place is 6hevetsye 8946 is hot- divisible by lD. 
And ohich ot the lloolng number s are dinaisl- b 1 

(5918 
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Sum ot digits at add place 3 5 tl Sum of digits at even places = +8 - 17 Thelr dittevence e (7-6 

is divisikle by ILthevetra 51ur ao diuiside by I 

68,7IT 
Sum of digts ot odd places 6 +747 o 

Sum ot diqits at even place 8 +l- 9 Dtterencè A0 - 9 

I s div sible by I1 ithevefove 68H7 also diuis ble by 11. 

Sum of digit at odd places 3t 8 ' 
Sum ot digii at evan plares 2 8+2 10 
DIeren ce' ll-lo_ 

um 

LsAut_divisble by Il thexe dore 388A is no 
disible by l 

C)1O35+ 
Sun of digids at odd place3 I+8 +7 16 
um ot dig{ts at elen_places 0+52S 
DiEtexence 6-5 

s_divisikle by Ltheve fore 10857 s 

diuisible by 
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IO.ind hich of Hhe olo wina numbers ore divnsile 
15 

960 
The numben tboth diustble by 3 and 5 
So is divisikle b IS 

C8295 
The humber tsiboth divisible by 3 ond 5, 
So is diisible by 15. 

ioY13 
The number ts ne ithex divnsiLle by: 3'ho 5 
theretn e is not diisiLle by 5, 

gwS012 
he numbea is dinsible by 3: but not 5 

So tis not dvisible 

ILLn eath of the tollowin9 numbersealace Mhy he Snallest whole Dumbeyto make the esulhngnue divisilble by 3 
64 M3 

Sun Df its digdts 6Y+3 13 
he number hext to 1 sihich is_ divisible by 3 15 LS 

Reouired fnallest numbe S-13 2e 

Y M 6 
Sum Df ds digtb 2 1f6 +Y+6 20 
The eR?)_Aunobr nexttn 20 nhith is di'sible 
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otM21 
Me 2l-20 

27 M 53 
Sun Df ds digtts 247 +5S+3 17 
The humber next tD 11 Which is ci Visible hy3 18 

17+M 18 
M 18-17L 

2Tn_eoath oP the tollduoiog numbers replace M 4 theSumallest whdle number to mahe the resulhng number divi'sie by 

6 M 
Sum of t digts t5 + 23 
he numloe4_nexf b uahith dinsi ble_by9 
1S 2 

22 + M- 27 
M 27-23 4 

+548 M 
b digitse t7+5++8 31 

Ke nurmber nex 3 hlth is duvísiLle by 9 is 36 
3+M36 
M363L 5 

627 M 
Sum of ligits e 6t2t7 t 9 24 

ehumbe 1 hext ta 24 nbihis _didible byis 24 
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2 M 27 
M 27- 24 3 

13.In each of the to lowing num berS, replace M 

Snallest whde number o make Hhe Tesuling nur 
dinsille by 

SuLna of its digits i'nodd_daces 3+ M 
SLLn 0t diib in even places t { 
Theiy difrexern
 |= (3-M)MO 

=3- M 
M 

(Y3M Y22 
SAm D digits in Oddplaces 3 +21 
Sum D diåit in even places2 M+2 

Thelr dittexence = -(2tM) 
+M 

M 

(i 09-5 M 
Sum ot ih digits in ddd placeS }+9+5 2 2 Sam of diits in een places =D+7 M 4- Their dittexence 21-(1tM 

2 - tM 
M_Y 

14 M 15 
Sum otis digib in dde pla.ces +M+5 6t M Sum i ih digits in even place 4+7 

Theiy differene -(6+M) I|-6 6+ M 
M 5 
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4True oY Fals e -

a number is divisible by ,it is divisille by 
false 

tens and unit dgtt of a number is divisible by 
then t sdivsible by 4 

IE hundredstens and unit digtt is dinisible by 
then numbers dhmsible b 

a number i oa tactor of 6_and 24,t is a tactoy 
of 8 True 

betause IL and 24 aro tactors df Y8 

ta number is dns ible by & t s dhasibla by ond 
6 True 

Setoye Ig s he_pmduct of 3 and 6 Sn if a 
number s dinsible by 19, itis diisible and 

Nadidos buth b and c Cample telythen a dindes 
ah A-b alo Campletely ue 

a diides b and Ccompletely theA a diuda 
atb ond a-b Compleiely, beause Fa 
number a fatDy oeach t the twd numbe_ 
dhen t îs atautoí ot heîr Sum abo 
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